H £ 0l & AFHSH & Ml A

SN DEBID
I8 JERE SLNL
=22l 2+=%H HEXH EEREED
SA - B . B(30) - HSAIY - BAS Ol &k e HimE==T
mE=s=. il 23,543,274 12,132,941 11,410,333
= 552,956
s 220,000
= 1,448,049
Al 21,322,269
zswns sEXA 13,479,324 12,069,351 1,409,973
= 552,956
s 220,000
= 1,448,049
Al 11,258,319
29X HEXR 8,032,601 6,859,439 1,173,162
= 230,000
ax 220,000
& 600, 149
Al 6,982,452
32 ¥ HA HEXA 3,270,408 3,569,501 A299,093
201 Let2AL| 14,408 13,501 907
01 Ar22t2lbl 2,000 0 2,000
Ous=0F 2= A 2,000,000& 2,000
02 32| 12,408 13,501 21,093
OAUHA B3 20110l Saldl K& (=]
oHa) 12,408,000 12,408
202 o8| 1,000 1,000
01 =34 bI 1,000 1,000
OB (32 ) SIS +ArY =81 048l
500,000& 500
OxdE2A HAFE 9 500,000& 500
203 LS F=&| 5,000 5,000
03 A FRIHRFAIL] 5,000 5,000
OnsSdHFN ANHFISRFEH]
5,000,000& 5,000
307 21201 ™ 3,250,000 3,550,000 A300,000
09 2+YHEXZ 3,250,000 3,550,000 A300,000
29 RIIME=X 2,500,000,000& 2,500,000
OAILIH A Hl== e THEXIA
750,000, 000& 750,000
AMUHA HEX2(HHEES) 17,000 17,000 0
207 A0 17,000 17,000
01 g1 =H| 17,000 17,000
OHALN 2 (EANT) 917 S
17,000,000& 17,000
AUHA HE X2 (MR SHH2ALES) 564,152 602,041 A37,889
308 XXIEHISOIA 564,152 602,041 A37,889
07 RXISH 2 2e=2 564,152 602,041 N37,839




2N DEHFI}
A zns S8
&l 28d HEXA EEREED
SA - B . B(30) - HSAIY - BAS Ol &kt e HImE2
OANUHA 2SS HEX
416,351,000& 416,351
OALIBIA SEUH ZY L MEIA IHHX|
& 69,387,000& 69,387
OIS WA SLBAX 24
9,430,000& 9,430
OFAY wadl X& 68,984,000& 68,984
AUEHA S322/H 29 XI& 1,491,329 0 1,491,329
308 XX HMSO0IH 1,491,329 1,491,329
07 XSRS =2 1,491,329 1,491,329
OAUHA 3322l 2 X3 (&8l o)
1,491,329,000& 1,491,329
20| 220l HA 29 K& 200,000 226,530 A26,530
= 60,000
Al 140,000
307 2I2+0| & 200,000 226,530 A26,530
= 60,000
Al 140,000
09 2+HEXZ 200,000 226,530 226,530
OZJ| Zelolgda 23 XA
200,000,000& 200,000
= 60,000
Al 140,000
HAHA K& 460,000 736,000 A276,000
= 230,000
= 34,500
Al 195,500
307 21Z2to1 A 460,000 736,000 A276,000
= 230,000
T 34,500
Al 195,500
09 2+HEXZ 460,000 736,000 A276,000
OM&HA 2 XIA(50H)
460,000,000 460,000
= 230,000
= 34,500
Al 195,500
2SHA K& 307,000 240,000 67,000
= 92,000
Al 215,000
307 21201 ™ 307,000 240,000 67,000
T 92,000
Al 215,000
09 2+YAHEXZ 307,000 240,000 67,000




2N DEHFI}
g3 lsus sgA#
&2l 28d HEXA EEREED
SA - BH - SRI(B) - MRAR - BAS 0f v e HIDEY
OF 2~ 2% 24 xa
307,000,000 307,000
T 92,000
Al 215,000
SSHA X2 (XHA) 325,000 200,000 125,000
307 glztol & 325,000 200,000 125,000
0 2+-EAHELS 325,000 200,000 125,000
OAl SEHA 248 &4 T3
325,000,000 325,000
SEY A X 343,000 257,000 86,000
= 171,500
Al 171,500
307 2lzZtol 343,000 257,000 86,000
= 171,500
Al 171,500
09 2+EAHEXS 343,000 257,000 86,000
OnsSAXS StEE HA X2 (4H)
343,000,000 343,000
= 171,500
Al 171,500
CAE ISRE =9 440,000 440,000 0
s 220,000
Al 220,000
307 212told 440,000 440,000 0
s 220,000
Al 220,000
08 B=EHEX= 440,000 440,000 0
OZAE 1S22 (83 i) 29
440,000,000 440,000
s 220,000
Al 220,000
EOIEAl 2+SAL X2 350,400 365,200 24,800
[ 175,200
Al 175,200
301 LE2 NS 350,400 365,200 4,800
== 175,200
Al 175,200
14 JIEt2 4= 350,400 365,200 24,800
ORQIBAl SLBAMK HSIHH
100,0003 x202E « 12 350,400
S 175,200
Al 175,200
EHAIDIESHZD| Salg XIJ 11,405 9,357 2,048
& 4,277




2N DEHFI}
A zns S8
&2l 28d HEXA EEREED
SA - B . B(30) - HSAIY - BAS Ol &kt e HImE2
Al 7,128
307 21201 ™ 11,405 9,357 2,048
& 4,277
Al 7,128
02 QIR AAIHE X 11,405 9,357 2,048
OEAIDIESHLD| S&IZ X2 (5400H)
11,405,000 11,405
= 4,277
Al 7,128
BAIDIEZ N ===2 XI& 208,907 206,810 2,097
= 62,672
Al 146,235
307 2I2H0| ™ 208,907 206,810 2,097
& 62,672
Al 146,235
02 QIZHEAAIHE R 208,907 206,810 2,097
O=Al IIEZH === K2 (540CH)
208,907,000& 208,907
= 62,672
Al 146,235
NI5XE EHAIZSE AL EY 22,000 0 22,000
207 AINL | 22,000 22,000
01 HA1=2<| 22,000 22,000
ORMI5Xt BIAIBE TAF X
22,000,000& 22,000
U=us 84835 gdot 9 22,000 0 22,000
207 AN H| 22,000 22,000
01 A7 E Y| 22,000 22,000
OUEnE 43t LOoHRT §) A718Y
22,000,000& 22,000
nESEE HAAIS 4,733,137 4,458,306 274,831
= 322,956
= 847,900
Al 3,562,281
WEANEE SXE= 467,660 399,000 68,660
201 et AL| 467,660 399,000 68,660
02 32| 467,660 399,000 68,660
QuEAds sX2e 20,000,000 20,000
OUEANEZ M3 (563M4) & SAI(
25001 2) 436,660,000& 436,660
Ol &= 9 WSSE 2= Jtillet 7t
5,000,000& 5,000
Ooxtg |R7 £ sXA2al 6,000,000& 6,000
WELHHAIEE FHl ¥ =5 1,107,000 1,306,900 199,900




2N DEHFI}
IE: HENS SHTE
9 DS R (cie) 29
SA - BH - SRI(B) - MRAR - BAS 0f v e HIDEY
201 &Er=23| 43,000 43,900 A900
01 AFR2t2lH] 43,000 21,900 21,100
OunsEdd g22 MA 3,000,000& 3,000
ORSOHT(BOALE HA(KGHEI)
20,000,000 »23] 40,000
401 AIEHIZ R0 1,064,000 1,263,000 199,000
01 Al&ZHI 1,059,000 1,258,000 199,000
Ous &sII(S) s
226,000,000 226,000
O WSHUSHNI & d2 WHBAHEM
&) 111,000,000 111,000
OAZEE SEASI| FOHRH (77TH)
60,000,000 60,000
OLSASS F0H(2129H) 62,000,000& 62,000
OLM HAI(XE THEM) 2RI
360,000,000 360,000
OusSAHMALEOIEt MINLE 28 S
X & FAZe 200,000,000& 200,000
OnSHEE =3t 1IHA) WX
40,000,000 40,000
03 AIZ 2 THHI 5,000 5,000 0
OuSHEAlId= bl & &5
5,000,000 5,000
01 T2 XHEH FJAZSMA = 71,960 0 71,960
= 43,176
Al 28,784
401 AlEHIZ 20| 71,960 0 71,960
= 43,176
Al 28,784
01 Al 71,960 0 71,960
OuESts2de FAZFBEHA F0HER
257,000 2804 71,960
= 43,176
Al 28,784
XNs8 wnsSHATS) = 60,000 60,000
207 A-IHE| 60,000 60,000
01 H1ESHI 60,000 60,000
OXNsgUSHA JI2HE 8
60,000,000 60,000
Sgusso 29 N2 1,603,000 1,229,334 373,666
= 480,900
Al 1,122,100
101 @124H| 989,123 800,335 188,788
= 296,737
Al 692,386




SN DS
33 sus s8X&
ohel: DES M A (e A
SN - B - BRA(SH) - MIRAR - BAS 0f st e HIDE2
M JRINZZ2XNSE s 989,123 800,335 188,788
OSgusSst 28 A(22Y) 989,123
123 (BAIZH/F5L)
2,060, 7403 x22F « 122 544,036
& 163,211
Al 380,825
-AXRESR/IE 78,880 x22H 6L 10,413
= 3,124
Al 7,289
PR
9,8603 #22 = *12A1 2Hx525=%150% 203,038
== 60,911
Al 142,127
—ORIIERR2 A
9,860 52 %7 Al 2t 100 *200% 69,020
& 20,706
Al 48,314
-RURRLY
9,860 x5 11 AI2H# 162+ 150% 13,016
& 3,906
Al 9,111
-4 288, = 110,000,000& 110,000
L= 33,000
Al 77,000
-HHSAH| 150,0003 x22 123 39,600
= 11,880
Al 27,720
201 =3 601,877 418,999 182,878
= 180,563
Al 421,314
01 AtR2t2l8l 466,899 195,099 271,800
OUMEAl & xtE24
3,300,000&x10& «12& 396,000
= 118,800
Al 277,200
OZH0ISXNHAAE Sit=
2,000,000&«12& 24,000
[ 7,200
Al 16,800
O&Hl Xtz 6,360
-Sgl 300,000 «1CH*12& 3,600
= 1,080
Al 2,520
g2l 45,0002 x2CH* 122 1,080




A DS
3N Hsus s
©Helr WS HEAY (St M2
SN - B - BRA(SH) - MIRAR - BAS 0f st e HIDE2
< 324
Al 756
=E=F= P 35,000 *40H =122 1,680
== 504
Al 1,176
OAtRd 23| 38,739,000 38,739
S 11,622
Al 27,117
OdoARs B4 1,800,000& 1,800
S 540
Al 1,260
® BZ2H| 134,978 223,900 A83,922
ORISR 221U (28CH) 134,978
HPHUIST L 22
134,978,000 134,978
=S 40,493
Al 94,485
301 LEtENZ 12,000 10,000 2,000
== 3,600
Al 8,400
11 HAIABIXIE S 12,000 10,000 2,000
Oetd=2d W=l 12,000,000& 12,000
& 3,600
Al 8,400
Sgnss¢ X (=) 190,000 0 190,000
=2 190,000
201 =23 190,000 0 190,000
= 190,000
02 3224l 190,000 0 190,000
Oxtgsxzelt(d=Hl S)
177,000,000 177,000
= 177,000
Osdz, 2HY A BE & 23:3
13,000,000 13,000
= 13,000
Sgussg =g N2 167,500 48,000 109,500
= 96,600
Al 60,900
405 AtatsE =4 157,500 48,000 109,500
=S 96,600
Al 60,900
01 L =ESFSHI 157,500 48,000 109,500
OLEAL 0l SZUS+H I 2230
) 157,500,000 157,500




2N DEHFI}
I SNE SLX
Bl nESeE HEAE (Cte &)
SA - B . B(30) - HSAIY - BAS Ol &kt e HImE2
o~ 96,600
Al 60,900
HAZZA NEAIL (HEALS) 110,000 122,000 212,000
& 33,000
Al 77,000
401 Al BIL20HY| 110,000 122,000 A12,000
= 33,000
Al 77,000
01 Al&HI 110,000 122,000 212,000
OHASZE 4l L WXl &X
10,000,000 *4IH 2~ 40,000
= 12,000
Al 28,000
OHHAQHHHUD|(BIT) Al & WA &X
10,000,000 #7900 & 70,000
& 21,000
Al 49,000
HASHE B AIAE(BIS) 22l 120,500 80,000 40,500
201 Let2AL| 81,000 80,000 1,000
02 324l 81,000 80,000 1,000
OBHAQHAHZD|(BIT) L HASHEZAIA
E(BIS)(118I14) RAIE= 81,000,000 81,000
405 Xt SH| 39,500 39,500
01 XML =ZFSHI 39,500 39,500
OHASHHBAAE BOLAY|(VPN) Wil
2 39,500,000& 39,500
ZANZAIE Ax(LE) 240,000 0 240,000
= 120,000
Al 120,000
401 Al BIL 2 0HY| 240,000 0 240,000
o~ 120,000
Al 120,000
01 Al&HI 240,000 0 240,000
OALIE HASZE AXI(51A)
240,000,000& 240,000
= 120,000
Al 120,000
SHAI2}HFZALAIAE 2 4,464 5,872 21,408
308 KtXISHMISOI A 4,464 5,872 A1,408
13 I 2 SOIHEHE & H 2 AN ] 4,464 5,872 A1,408
OHASHESAINAL 2
4,464,000 4,464
YEWSIE AN OrelXl XN 62,000 56,800 5,200
= 31,000




2N DEHFI}
I SNE SLTD
Bl nESeE HEAE (Cte &)
SA - B . B(30) - HSAIY - BAS Ol &kt e HImE2
o~ 9,300
Al 21,700
308 AXIEHHISO0IH 62,000 56,800 5,200
= 31,000
& 9,300
Al 21,700
13 SI 2SS B A X LAEAIZ Y] 62,000 56,800 5,200
Og=uWSIE AN OtelXl XA
62,000,000& 62,000
= 31,000
T 9,300
Al 21,700
THE ZJITHA 104,000 0 104,000
= 52,000
& 15,600
Al 36,400
308 AXIEHHISOIE 104,000 0 104,000
= 52,000
& 15,600
Al 36,400
13 SI 12 SOHEH B A X LAEAS Y] 104,000 0 104,000
OThe BIITHA 104,000,000& 104,000
= 52,000
= 15,600
Al 36,400
THE BIJIIHA F=OHKIA 5,353 0 5,353
308 AtXIEMIS0I S 5,353 5,353
07 XIXISH2t RS2 5,353 5,353
OThe ZJ1IHA FIHXI (ZHIONE)
5,353,000& 5,353
LA BHF B2 FOIRSIAIE X4 35,000 0 35,000
401 AIEHIZL 201t 35,000 35,000
01 Al&HI 35,000 35,000
O&H ¢ CXel 84 35,000,000& 35,000
HElol, =0l Boel25 7S &l 150,000 150,000
401 Al BHIL20HY| 150,000 150,000
01 Al&HI 150,000 150,000
OO{Z0l - 9l - HojeIEE T HY| U &
Xl2el (4500 ) 150,000,000& 150,000
ZI|& otMEE XY 185,000 150,000 35,000
& 92,500
Al 92,500
401 AIEHIZ 2018 185,000 150,000 35,000




2N DEHFI}
I SNE SLTD
9 DS R (cie) 29
SA - B . B(30) - HSAIY - BAS Ol &kt e HImE2
o~ 92,500
Al 92,500
01 Al&HI 185,000 150,000 35,000
Ollngex SEH(ZEH2SE 212)
134,400,000& 134,400
= 67,200
Al 67,200
OBXEZelt (MBI A) Wi
30,000,000& 30,000
T 15,000
Al 15,000
O TIAE & 20,600,000 20,600
& 10,300
Al 10,300
wWSIFeEIL AR 2F 3,600 3,600 0
201 Let2AL| 3,600 3,600
01 AtR2teld] 3,600 3,600
OMEHSEIIASAS| HAsg
100,000 9 43 3,600
GIX-C s5& o =& 5,000 5,000
201 et A| 5,000 5,000
01 Al 22lH| 5,000 5,000
OETHCedl SE& SIF AR 22|
5,000,000& 5,000
&IIRbsS X <200 K& 51,100 0 51,100
= 6,780
Al 44,320
405 XHatE SH| 51,100 0 51,100
= 6,780
Al 44,320
01 XML = F S| 51,100 0 51,100
OREUHALE 2B 2EM (1)
51,100,000& 51,100
= 6,780
Al 44,320
nNSetdsd A5 713,586 751,606 A38,020
=Ed SERIN SSEoD|2HYE =43 694,140 694,140 0
308 AHXIEHMSO0I S 694,140 694,140 0
07 MXIEHZ2tRE 2 694,140 694,140 0
O=&d &gl X 694, 140,000& 694,140
A2 (W SHE ) 5,000 5,000 0
305 B 3= 5,000 5,000
01 tia2s 5,000 5,000




ox
R
OF
uJ

-

KI0

Hlw

AB,520
AB,520
26,520

1,300
1,300
1,300
5,280

5,280

rSfE]-
Ol ko

16,970
16,970
16,970
2,69
2,69
2,69

36,790
36,790
31,780
31,780

7,500

24,280

4,030
3,050
3,050

Off &R

5,000
10,450
10,450
10,450
10,450

2,69%

2,69

2,6%

2,000

6%
1,300
1,300
1,300

1,300
36,790
36,790
31,780
31,780
12,780

3,000

3,000

1,000

500
5,280
19,000
19,000
4,030
3,050
3,050

ol

- S2A(3) - HIRA

SRR

5,000,000&

t XA

307 21201

=<
Kl

E
10

10,450,000&
2,000,000

01 AHR2t2ltl

I
=
ol

RO
R0

[0

58,000 »1CH= 128

JIZ2H

ql

KJ
ol

Ho

b

3

3,000,000&
3,000,000
1,000,000

PG
&

=P
100,00021%13% +1
;]

01 AFR2tel8l
01 AtR2telt]
OMSIS

i

E

2l
Ok

ok

Ot

500,000&

H |SX2

440,000& + 122

30
0
H0
H0
o

19,000,000

01 At2telsl
OXtsxt

MRS

=
=)

tEhE XA

B

980
980

2,000
1,050
980
980

2,000,000&

3,000 3502 Xl

OXME At
01 =LHOHI

202 04|
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